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Q1. Consider the following statements regarding the Rights of Persons with Disabilities Act, 2016.

1. 4% reservation in vacancies in government establishments for certain persons or classes of persons

with benchmark disabilities.

2. District-level committees will be constituted by the State Governments to address local concerns of

PwDs.

3. India does not ratify the United Nations Convention on the Rights of Persons with Disabilities.Which of the statements given above is/are correct?

a) 1 and 3 only

b) 1 and 2 only

c) 2 and 3 only

d) 1, 2 and 3

+ Show

Answer

Q2. Consider the following statements:

1. GCC was the source of the largest foreign inward remittances in India.

2. Among the GCC countries, the UAE is India’s major destination for exports.

3. India had the highest trade deficit with the UAE among the Gulf countries.

4. India had the highest trade deficit in agricultural products with the GCC in 2021-22.

Which of the following statements is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only
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(c) 1 and 3 only

(d) All of the above+ Show

Answer

Q3. With reference to the ‘Doctrine of separation of power’, consider the following statements:

1. It signifies the division of different powers between various organs of the Executive, Legislature, and

Judiciary.

2. The Doctrine is a part of the basic structure of the constitution.
Which of the statement is/are given above is/are correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer

Q4. Which of the following can be an application of IoT in Agriculture?

1. Agricultural sensors

2. Farming drones

3. Smart Greenhouses

4. Monitoring climate conditions

Which of the following option(s) is/are correct?

a) 1 and 3 only

b) 1 and 2 only

c) 1,3 and 4 only

d) 1,2,3 and 4

+ Show

Answer

Q5. Consider following statements about Union Budget:

1. The budget division of the department of economic affairs (DEA) in the finance ministry is the nodal

body responsible for producing the budget.

2. An interim budget is a complete set of accounts, including both expenditures and receipts.

Which of the above statements is/are Not correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer
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